SEEM 3
EEE) =—7a5445— (1 LC) HEIZET 3&5TERE

[EFRY =723354 45— (IL0) FHEICET SFHERE]

(Fpk 25 4F)
9 H AARHSE TLC EHEICET ST A

(“FRK 26 A7)
5 H EHEY=7a744%— (ILC) WMICET 2HAHMESHEORE

(R 27 482)
3H  [FERFRTEDEEERSHRE] THiEGTHREE (TDR) BiEHRE]

68 [ChETOBROEED] (HHESE) |

(*FRE 28 £)
7TH [AHMOER  ERARORII-ETIHBEE] (HEELH) |

(K 29 4E)
7TB T[HEHERUTRSAY FOEYHFORIEICETAHREE] (FHELE) |

11 A ILCEHENRELFE (500GeV ILC A5 250GeV ILC ~)
V=754 5 —ERHEZER (LCB). ERERMEEZEZER (ICFA)

12 A FHFRFEDEERTR. R HES (TDR) REAMFXRHEOFRE

(FEk 30 )
| A~FRHNFRFEYEERBS (ILC DRFEHNER) . RINHRFIHEE (TDR)
BREHMEESS (1 LCHEDIR FORMMTI+—TEYY T4) OBEREL

SA FENFRFEVEEXRRE. KMTHREHRESE (TDR) BRAEXIEZTD
HREDRY F LD

SA~ERV=7a54 45— (1I0) HEICEIIFRERBICE T L5EH




